20130506

Batsystem

AT

MP53 - Monteringsanvisning

Batsystem AB, Traneredsvigen 112, 426 53 Vistra Frolunda, Tel: 031-69 03 80, Fax: 031-690097

STAINLESS

www.hatsystem.se, info@batsystem.se

Detta behéver du:
You will need this:

il
]

x1
@25, 200 mm

)
I

@22, 500 mm

-

(=)

(2525

x2
M8, @32 M6 gzg
x1 x2 X6 x1 x1 x2
M8x16 M8x30 M6x25 M6x30 M6x35 M6x40 -
= e =2 %2
X4 x8 x2 x10 g
M6 M6 M6 M8 |2|

M8x30




20130506

<_~

¥

5 a-c [5a] [5b]

(minimum 25°)




20130506 3

FSM5x40

—
oI ‘o 5
i
| e

600




